Non-Verbal Reasoning
Practice Test — Set A



Completing a Sequence

Question 1

Which of the images A to E is next in the sequence?
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Answer:
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Question 2

Which of the images A to E goes in the missing part of the sequence?

1101 1010 1100 1101
1010 1000 > 1101 1010
1000 1100 1010 1000
1100 1101 1000 1100
A B C D E
1101 1000 1100 1100 1000
1000 1100 1101 1000 1101
1100 1101 1000 1101 1100
1010 1010 1010 1010 1010

Answer:
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Question 3

Which of the images A to E is next in the sequence?
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Answer:
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Question 4

Which of the images A to E is next in the sequence?
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Answer:
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Question 5

Which of the images A to E is next in the sequence?

™
L

Answer:
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Question 6

Which of the images A to E goes in the missing part of the sequence?

Answer:
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Question 7

Which of the images A to E goes in the missing part of the sequence?
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Identifving the ‘odd one out’

Question 8

Which of the images A to E is the odd one out?

Answer:
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Question 9

Which of the images A to E is the odd one out?
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Question 10

Which of the images A to E is the odd one out?
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Answer:

10
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Question 11

Which of the images A to E is the odd one out?

Answer:

11



http://www.sigma-network.ac.uk/

Question 12

Which of the images A to E is the odd one out?

Answer:

12
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Question 13

Which of the images A to E is the odd one out?

13
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Question 14

Which of the images A to E is the odd one out?
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Answer:

14
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Identifying Common Feature

Question 15

Which set does Figure 1 belong to?

Set A

Set B

Figure 1
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O@

Tick the correct answer:

[]SetA
[]SetB

] Neither Set A nor Set B
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Question 16

Which set does Figure 1 belong to?

Set A

Set B

Figure 1

O
 JORBE M

O

Tick the correct answer:

[]SetA
[]SetB

] Neither Set A nor Set B

16
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Question 17

Which set does Figure 1 belong to?

Op 8 [ A N= O iy
Set A @@Sﬁg‘ﬁ%’ 50 ®||@ D
Ao AW =0 Al Po %
wA B 1P Al %O DAY
Set B @OAA'ﬁix?®@
AevelloTa || Fawkll & X
B AA
Figure 1 7‘5\7
A YO

Tick the correct answer:
L] SetA

[]SetB

L] Neither Set A nor Set B

17



http://www.sigma-network.ac.uk/

Question 18

Which set does Figure 1 belong to?

Set A

Set B

Figure 1

Tick the correct answer:
L] SetA

[]SetB

L] Neither Set A nor Set B
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Question 19

Which set does Figure 1 belong to?

Set A

Set B

Figure 1
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Tick the correct answer:

[]SetA
[]SetB

L] Neither Set A nor Set B
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Question 20

Which set does Figure 1 belong to?

O O 2L
® 0|0
SetA Ol® @0 |© 00 0@
o0 O
L ° ol |©
Set B Ol 8| |oe 0 09| |e ©
O |@| oe 02 e
O ® ol o
Figure 1
oe

Tick the correct answer:
[]SetA

[]SetB
] Neither Set A nor Set B

20
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Applying Operations

Question 22

You may need one or more of the following operations to answer this question.

YA AAVDA A

The 1 and 3rOI symbols change places

YA A3 =

RAVY

All symbols reflect in the horizontal axis

AR <(O>K4a

Y A A Xor=

The middle symbol rotates 90° anticlockwise

LAY .

All symbols change shading

Which of the diagrams A to D goes in the empty box below?

ENEeI

Aé@ W<

Sesd Wso

Answer:

22
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Question 23

You may need one or more of the following operations to answer this question.

AR DAAY]  Faa (X DRV Y

st rd
Thel and3  symbols change places All symbols reflect in the horizontal axis
FAA XK1 FKaa=<Xo=>kAn
The middle symbol rotates 90° anticlockwise All symbols change shading

Which of the diagrams A to D goes in the empty box below?

Sk = = &%

=dr === = =X

23
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Question 24

You may need one or more of the following operations to answer this question.

A= anany] [TATO=k=>NAD

All symbols move one place to the left All symbols reflect in the vertical axis
wARQ)>EPD] HOaA=<§ =>EEa
All symbols rotate 90° clockwise All squares change shading

Which of the diagrams A to D goes in the empty box below?

| | =)= [ © O e

A B C D

O | OO QO% +0OO

Answer:

24
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Question 25

You may need one or more of the following operations to answer this question.

YA A

= Aep=>

AR

e A A (£ =

<A A

=QJ=

The 1° and an symbols change places

XN AY,

All symbols reflect in the horizontal axis

XD

KON § =

All symbols rotate 90° clockwise

<l A

All squares change shading

Which of the diagrams A to D goes in the empty box below?

=R

C

5L

Y

Oy &

Answer:
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Question 26

You may need one or more of the following operations to answer this question.

FAACEND AL FaA =X DYy

d d

The 2" and 3 symbols change places All symbols reflect in the horizontal axis

AR>S FOa=<§ =>EEaA
All symbols rotate 90° clockwise All squares change shading

Which of the diagrams A to D goes in the empty box below?

OA I =Q)> =

A B C D

@A | @BA @Y A

Answer:
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Question 27

You may need one or more of the following operations to answer this question.

0V =G N=R Y S Y VN = =N, 2V,

t d

The 1" and 3" symbols change places All symbols reflect in the horizontal axis
AA=Q)DEED] FAAA{pnAvA
All symbols rotate 90° clockwise All symbols move one place to the right

Which of the diagrams A to D goes in the empty box below?

AN (X |\

S/ & M SIS

Answer:

27
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You may need one or more of the following operations to answer this question.

AR ADarAl  [TAT=(k>NAD

Whithynkelainpuarneizsgdedhetigdmpty boxBktymbols reflect in the horizontal axis

N LS ==~ IT#

Answer:

28
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